© Chapter 5 Quiz Review

Read the following questions and choose the best answer. Record your answer on the answer sheet — do not write on the
test.

1. Elements in the Periodic Table are arranged according to their
LL);atomlc mass (3) relative activity
{(2)/atomic number (4) relative size

e

2. Which elem/gm has a total of 5 valence electrons in the fifth energy level?
“’k( L Sb (2) Bi 31 (4) Br

3. The elements in Period 3 all contain the same number of
(1) protons
(2) neutrons
/(3)energy levels (rings)
Q(wj valence electrons

4. How many electrons are in the valence shell of an atom of carbon in the ground state?

(12 3 %gi 4)6

5. Which statement best describes Group 2 elements as they are considered in order from top to bottom of the Periodic

Table?
1) The number of energy levels increases, and the number of valence electrons increases.
(2) IThe number of energy levels increases, and the number of valence electrons remains the same.
TMThe number of energy levels remains the same, and the number of valence electrons increases.

(4) The number of energy levels remains the same, and the number of valence electrons decreases.

6. Which statement describes the elements in Period 3?7
(1) Each successive element has a greater atomic radius.
(2) Each successive element has a lower electronegativity.
(3) All elements have similar chemical properties.

¢ M%All elements have valence electrons in the same principal energy level.

7. Which of the following is a metal that is also aliquid?

(1)yMg (2) Br f(B}éHg 4 Al
8. Which of the following is the only member of Group IA that is.a gas?
(1)N (2) Na (3)Cs (4H
9. The majontygf elements on the periodic table are found as:
Ql) s0lids (3) metalloids
T’ngases (4) liquids

10. Typical char@ eristics of metals are:

{(1) they have a characteristic luster and shine
(Z’j they conduct heat d electricity only at high temperatures
(3) they are brittle © "
(4) all of the above

11. Atoms of metals tend to:
) lose electrons and become negative ions
(2Ljose electrons and become positive ions
3 gain electrons and become positive ions
(4) gain electrons and become negative ions



15.

16.

18.

19.

20.

21,

22.

23.

24.

25.

. Which group contains a metalloid (semimetal)?

(1A (2) 1A (

o

(4) VIIIA

. Which element exhibits both characteristics of _both metals and nonmetals?

(1) Bi (2) Ag §(3"“‘]’e (4) He

. Which property is characteristic of nonmemls‘?
prop %

@, They have a high electronegativity.

(2) They lose electrons easily.

(3) They have a low first ionization energy.
(4) They are good conductors of electricity.

Which element reacts VIgorously with water?
(1Y Zn /(2)Li (3)Cu (4) Fe

L )
|

An alkali metal would most readily react with:
(1) another alkali metal
(2) an alkaline earth metal
§(3) ra halogen
) anoble gas

. Which of the following is the atomic number of an alkaline earth metal?
(H1o g(”) 12 3) 14 (4) 17
An alkaline ezirth metal is an alkali metal?

} less reactive than
(2) more reactive than
(3) has the same reactivity as

Atoms that may have several different ionic states belong to:
(1) halogens L}) noble gases
(2) the alkali metals %(;tzg%he transition metals

Plutonium belongs to which group: -
(1) alkali metals £3 jinner transition metals
(2) transition metals 4y alkaline earth metals

The elements i in group 7A are called:

g’”( Yhalogens (3) noble gases

alkali metals (4) alkaline earth metals

The elementgﬁ;n group 7A typically form ions with that charge?

(1){;1- (2)2- (3) 2+ 4) 1+
Which group of elements satisfies the “octet rule” without forming an ion?

(1) the halogens ff}the noble gases

(2) the alkali metals (4) the transition metals

Which of these elements has an atom with the most stable outer electron configuration?

(1) Na (2) Ca (3) Cl (@)Ne

How many electrons are in the outermost energy level of an oxygen atom?
(H2 (2)4 3)6 4)8



27.

28.

29.

30.

3L

33.

34.

35.

36.

37.

38.

. Which of the following forms an anion?

_ What is the total number of electrons found in the valence shell of an alkaline earth metal?

gjz )3 (3)4 4)7

Compare to an atom of potassium, an atom of cesium has a
(1) a smaller atomic radii

42y a larger atomic radii

(3) the same atomic radii

As the elements of group IA are considered from top to bottom, the atomic radius of each successive element
increases. This increase is primarily due to an increase in:

(1) mass number

(2) atomic number

(3% the number of protons occupying the nucleus

fﬁ‘(flffE the number of occupied energy levels

Which of the following atoms radius increases when it forms an ion?
(Haluminum ( 3} chlorine
(2) magnesium 4) sodium

Which ion has the smallest radius?

(1)Na "' (2)Mg 3yAlL7 4)Cl!

When an atom loses outer electrons, it becomes:
(1) a cation with a negative charge
@ a cation with a positive charge
(3) an anion with a negative charge
(4) an anion with a positive charge

(1) neon (2) calcium (4) Argon

The amount of energy required to remove the most loosely bound electron from an atom is the:
@ﬁrst ionization energy (3) activation energy
(2) electron affinity (4) electronegativity

The most reactive group of nonmetals are the:
(1) inner transition elements (3) transition elements
@ halogens (4) alkaline earth elements

An element with properties similar to chlorine would be:
2@ Br (2) Fe (3)P (4)S

Which properties are most common in nonmetals?
(1) low ionization energy and low electronegativity
(2) low ionization energy and high electronegativity
(3) high ionization energy and low electronegativity
@ high ionization energy and high electronegativity

Which halogen has the highest ionization energy?
(1) Br QF 3)1 (4) Cl

The atoms of which group have the lowest ionization energy?
(1A (2) lIA (3) VIA (4VIIA



39.

40.

41.

43.

44.

45.

46.

47.

48.

49.

50.

Which of the following follow the same trend as ionization energy?
(1) atomic radii (3) ionic radii
(2) atomic numbers 4) electronegativity

The power of an atom to attract electrons to itself when forming a covalent bond is called:
electronegativity (3) electron affinity
(2) ionization energy (4) an isotope

Which element has the greater electronegativity?
(1) calcium i; Xygen
(2) aluminum (4) cobalt

} have higher electronegativities
(2) have lower first jonization energies
(3) conduct electricity more readily
(4) lose electrons more readily

. Conéred to atoms of metals, atoms of nonmetals generally:

Which of the following atoms has the strongest attraction for electrons?
(1) boron @ fluorine (3) zine (4) sulfur

Which of the noble gases has the highest first ionization energy?
(1) radon (2) krypton (3) neon Yhelium

According to the periodic table, which of the following series of elements is ordered by decreasing electronegativity?

(1) He, Cs, Si, Mg
(2) Cs, Mg, Si, He
;; Si, He, Cs, Mg
%ﬁﬁ Si, Mg, Cs, He

Who developed the first periodic table:
ﬁ% Mendeleev (3) Ramsey
(2) Mosely (4) Rutherford

How many energy levels are found in the elements in period 3?
(h2 @3 (3)4 (4)5s

Which group contains metals, metalloids, and nonmetals?
(H A (2)1IB @IVA (4)IVB

Mosely’s work led to the realization that elements with similar properties occurred at regular intervals when the

elements were arranged according to atomic size. This is referred to as:
(1) Atomic Properties

{2) Modern Periodic Law

(3) Extensive Properties

(4) Mendeleev’s Law

Which element attains the structure of a noble gas when it becomes a 1+ ion?

(MK (2)Ca G3)F (4) Ne
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Chapter 5

Record on the periodic table below the following:

1.
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Block: ____ Date:

Place arrows on the ends of the trends to indicate the larger/higher area. (1 pt each/ total 6 pts)

Place an “X” on the line over any group that does not exhibit a given trend. (1 pt) .

Indicate the number of valence electrons for each group a on the line given. (0.5 pts each/ total 4 pts)

Indicate the charge for each group A on the line given. (0.5 pts each/ total 4 pts)

Shade in the semi metals. (1 pt)

Place an “X” on any element that is liquid at room temperature. (1 pt/ total 2)
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Record your answers to the multiply choice questions below. (1 pt each)
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